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Aot : Rotdind age eFSato 8 JuT LorPnag Sv0,T9ED




ANERER TR -3- SN - 712

1. Fresh sewage is in nature

a) Alkaline b) Neutral

c) Acidic d) None of the above
RRNF TBHBS T8 BITRZOI0 Shhlevciad

a) T0eoPH b) 3&3#@

C) &S00 d) BT CINJTP B

2. The biological decomposition of organic wastes under controlled conditions is
known as

a) Composting

b) Sanitary landfills

c) Incineration

d) None of the above

03083 1S DT T2 B0 DLRIODR), DJ0d BBODHNZE ?
a) a)o_s)rira?%d

b) éddaregs TNt

C) %Re80ED

d) oS cdRPTe )

3. Chernobyl nuclear disaster occurred in the year

a) 1985 b) 1987
c) 1986 d) 1988
BRerWer BORMED BO00S CINE DR RPN ?
a) 1985 b) 1987
c) 1986 d) 1988
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4. Enrichment of nutrients in a water body leads to
a) Eutrophication
b) Biotransformation
¢) Biomagnification
d) None of the above
Qe0S SBCNPOS Fpeazoosne DRFBETE) om@dg O BRRERTIBT 9
a) ZOe3 PR3
b) 2§08 drwooss
C) ¥IBIFFS
d) RoedT a3nYEe e

5. The maximum permissible limit of nitrates in drinking water is

a) 45 mg/l b) 79 mg/l
c) 100 mg/I d) 250 mg/I
BRI Qe039 Fed et rfaa% LIRTE QS D), ?

a) 45 mg/l b) 79 mg/l
c) 100 mg/l d) 250 mg/l

6. Environment Protection Act was enacted in the year

a) 1974 b) 1998
c) 1986 d) 1982
Cioxve} Og5s BTOOTODI), o33 TRFETE 307 o) 9
a) 1974 b) 1998
c) 1986 ' d) 1982
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7. pH value of potable water is

a) 3and5

c) 6.5and 8.8

Zpetderser eI pH TRooed a%&gd ?
a) 3 R5

c) 6.5 8.8

8. The chemical name for alumis

a) Aluminium chloride

b) Silver nitrate

¢) Aluminium sulphate

d) Copper sulphate
‘200337 S TORRO3NT BATO
a) BORNONN0 ZRFE
b) 20,0° e

C) @ORDOVCIO RSeEs®

d) FTo* ASeE®

SN - 712

b) 10.5and 12.6
d) 1.5and2.0

b) 10.533) 12.6
d) 1.5 32 2.0

| Consumptive, productive, social aesthetic and option values refer to

a) Tropic structure

b) Ecosystem stability
c) Biodiversity

d) Dynamic equilibrium

eSnieen, YISES, ORI wcé)é O\oCS) 553@57{@30 facﬁail RWROZS

a) wa’?ad@ojacﬁ 033
b) =O=T FHOD P33
c) zaesbigj@cﬁé

d) Beodod m’c:b?\éa
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10. Due to incomplete combustion of fuels from petrol engines, the gas liberated is

11.

a) Carbon dioxide
b) Carbon monoxide
c) Nitrogen dioxide
d) Sulphur dioxide

TR, e QOB N0T RTINS BROTPREF TBIDOTON TN 40 wmﬁzsmmgcs ?
a) |omon 3 Sy

b) Bwes* dmmifdcs‘

C) TRIF 3 8 o

d) a’egp‘ 3 &3 oo

Some toxic compounds are ingested and retained in the tissues. These pollutants
pose special risks to humans and other organisms high on the food chain because
of which process ?

a) Synergism

b) Compound contamination

¢) Biomagnification

d) Carcinogenesis

3OR) O@/FO N-’oomyws% SO OBNTFS, ﬁebﬁmmgd D03 YOPRBLY OO, B3

mégmdﬁefo mm;z doa’g VBT WeANST 5598 B3TLA3 2oees éa&ﬁ wmoiaddiom
mmgzs. k=2 aggodao:‘odgl Ao ) f?do:’oefaﬁagd ? :

a) AJWFRO

b) N"ooinj m&"%
C) ¥IBIFFS

d) BRFIReIT
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12. The disease caused by drinking contamination

a) Scurvy b) Typhoid
c) Malaria d) Anemia
3003 DO SBR[ 0NI0TII0ERTO T2OWNS

a) 3o b) ejmed,
Cc) oSedAIR d) T8&esS

13. Sewage sickness is a form of

a) Water pollution b) Air pollution
c) Land pollution d) Light pollution
23008 BRORD fadﬁﬁ BoWORRT

a) %O BROF b) 03 BRI,
c) 3n BRI d) 2380 BRI

14. Sodium is usually estimated by which of the following analytical technique ?
a) Flame Photometry
b) Coulometry
c) High pressure liquid
d) Chromatography
RReRO30 MBRFTON BN CINT DB¢RET DTOIDOT L20THWRTDNIBE ?
a) 2,80 PpeedReEss
b) 3necineow
C) 953 3BT BB

d) SeorR
\__y
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15.

16.

17.
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Poorly nourished lakes are known as

a) Oligotrophic

b) Eutrophic

c) Mesotrophic

d) Xerographic

BED TP RO a’dfaeddm}@ S0t BT ?
a) RRTpeRs TR FRB0000S

b) o3vedgesqs*

C) QoRReEdR s

d) ®¥3eemoes

Highest level of biotic interaction is

a) Mutualism b) Predation

c) Parasitism d) Amensalism
BHUP BIoeacs 2% TORT 30300, DJ0TH FB0HLINZTS 9

a) WD, b) Swomedeeds
C) TooTOOY d) eB39x0

Group of individuals of the same species that share common attributes is called

a) Community b) Population

c) Ecotype ' d) Society

ROTRT, mmgsaqu TowsBRIE w0z3e 2O I3nY mowag N[0T FZCDSINZTS 2
a) ABOTIOD b) =303

C) Bpegm d) "=n
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18. Acid rain is caused by

a) COand CO, b) SO, and O,
c) SO, and NO, d) NO, and O,
TP CIRPTOOT YVOLTNIZT ?

a) CO &583CO, b) SO, =580,
c) SO, @33 NO, d) NO, &30,

19. Marine pollution of the ocean is due to
a) Oil spills
b) Washing of cargo ships
c) Disposal of hazardous waste
d) Allthe above

AONCH u@d;@@&%@

a) % BORINEON0T

b) ToRRF BRENNY BRVCINNFONT
C) TORNTTT TQBNIY QRO TOOT
d) SeOT QTP

20. The chemical that is used to ripen mangoes is
a) Calcium sulphide b) Calcium carbide
c¢) Calcium carbonate d) Calcium chloride
BRI LTS BENRLO PRI TIRDOFOVT OSIRYT0 ?
a) 53,9000 RS, b) &,&0x0 TOUYF T
c) w900 L DINOINNS d) 5,930 Ioieley
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21. Biotic environment includes
a) Producers | b) Consumers
¢) Decomposers d) Allthe above
B TORT om@dsgl WSRRORT 9
a) Spenlalied b) myz8H
C) DeIwB3d d) Soed3 NS
22. Chicken gunya is transmitted by
a) Culex b) Aedes
c) Anopheles d) Housefly
“ut* mz " 8390008 3N To0T o“odabéd 9
a) 8 I8 b) &z
c) emwef)m d) S
23. In our country, Vana Mahotsav Day is observed on
a) Second of October b) First of December
c) Tenth of August d) First of July
33%53@3&3@ aﬁz&dooﬁrawd @mzﬁo’z%&b& QAOT wzéawaw ?
a) NTBEIe eﬂiiraewc‘ b) w.ouSe BZowoe
c) ®23e wﬁ-jd d) womSe 28]
24. Which one of the following is not a primary contributor to the green house effect ?
a) Carbon dioxide b) Carbon monoxide
c) Chlorofluorocarbons d) Nitrous oxide
3 INIINSO ) OXRHTO BB S aa’ammﬁ T, HT BRI QERZOY ?
a) taomedcs &3 & b) sowrae Mmﬁdzs*
c) é@wedrae%@pma'aum‘ d) @7 8 o
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25. Medicine of quinine is provided by

a) Eucalyptus plant b) Aconite plant

c¢) Cinchona plant d) Money plant
330 BRE=, O3RN TOT BBOOTNZT ?

a) JeovNd b) esBRe3E w0t
C) ROBRETD TYOL® d) =0 T

26. 71% of earth surface is covered with

a) Land b) Air
c) Water : d) Coal
230030 deed (030 71 SR, 23R CSRYTOCT BRRTIZTS ?
a) PR b) e
C) ed d) 3Q5eo
27. Which combination of the following elements constitutes a major portion of earth
crust ?
a) Oxygen and Silicon b) Oxygen and lron
c) Silicon and Iron d) Aluminium and Iron
2SN 03 03T 23RN0 Bo3REWSOD RATBTTT 208 700D %IONONTS ?
a) SRWIT BB RO | b) esResI 033 3D
c) AOF BB IV d) R0 =083 BRED
? 28. The least preferred technique in the disposal of municipal solid waste is
a) Incineration b) Composting
c) Landfilling d) Bricketting
DTRLOD S a’azszséd S nlelevelu] é‘c’oa”%wdééoda A {wpI
CYRAZIel0 b) @J@jm%d
- c) R0 g3eF d) wBeson®
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29.

30.

31.

32.

Minamata episode was caused by which heavy metal ?

a) Calcium b) Mercury
c) Lead d) Arsenic
QODRI0E3 FHEIFOR0 B3 DRFOTT A TWOFTT)

a) 59030 b) &owos
c) aex d) =255
The First Environmental Law in India was enacted in

a) 1947 b) 1950

c) 1972 d) 1982
LP0SE BRTO TORT THVRTI), 0BT WeRF 207 ST ?
a) 1947 b) 1950

c) 1972 d) 1982

A device fitted to the exhaust system petrol driven motor vehicle to reduce emissions
of pollutants is called as

a) Conversion System b) Conversion Kit
c) Catalytic Converter - d) Catalytic Box

[ROFTTINY BATRRROVFODR), FRRD RRBL R AR Fin eeF 1393 Beesdd
BT LVBRIE IR DR LTI 9

a) TOR3FS daswi@ b) 0R3r 3T

C) ISP DOWSF 3 d) SBenSTeE T

The maximum permissible level of BOD (mg/l) in waste water that is let into river is
a) 20 b) 30

c) 40 : d) 10

S0t WS 39,2 DEOSYTOR BOD (Mg/l) o3> Roe emomds adts,

a) 20 b) 30

c) 40 d) 10
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36.
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Which one of the following sequence represents increasing order of toxicity of metals ?
a) Ca, Zn, Cd, Mn b) Ca, Mn, Zn,Cd
¢) Zn,Mn, Cd, Ca d) Mn, Cd,Zn,Ca

= $9NGINE, I Beroto SeeBry HEEER KorBRE SAdR) 008 SREQ,
RRURB3?

a) Ca, Zn, Cd, Mn b) Ca, Mn, Zn, Cd

¢) Zn,Mn, Cd, Ca d) Mn, Cd,Zn,Ca

The term environment refers to

a) Total set of circumstances b) Hydrosphere

c) Atmosphere d) Biosphere

TORT DO ?32%@

a) W), ﬁ‘@gﬁes b) menrees

C) OBORTED d) Remiees

Climate change issue is due to increase of gas in the atmosphere.
a) Oxygen b) Ozone c) CO d) CO,
BIOBRS WEVRE RIROIN TTITTLTE) 03 BT £z§§3®oz$ OERNIBT 7
a) SWWS? b) t.3yees*

C) TOWFS® BT, d) sovrs o &8, &

Biomass energy refers to

a) Renewable

b) Nonrenewable

c) Renewable and alternative

d) Renewable, alternative and ecofriendly

WO3R R aazddgtziraz%:bgd ?
a) INEFORWTITIT

b) SNeFORRNT
C) SOETORLIBITIT B WO O

d) BEBORIBITOT, TWOSTF O3 WY BORT Rt
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37.

38.

39.

Sacred grooves are of

a) Agricultural importance
b) Religious importance
¢) Economic importance
d) Industrial importance
B, T0£8 DI, BR0OT ?
a) T WR0DI

b) zoaors CRENSRLVE

C) SOFS TW[0NZ

d) o5 TR0DI

Fluoride is harmful at concentration exceeding

a) 0.9 b) 1.5 6) 0.5
ReOBRINS MOTZ0D BB PG E® FIROD Toed
a) 0.9 b) 1.5 c) 0.5

Algal blooms appear in water due to
a) High pesticides

b) Nutrient enrichment

¢) More silt

d) Industrial effluent

QO T30 TR 20D 530
a) TR BTN

b) TP&F PausTeD

c) @255 R

d) 3rodE JARFS

R A

mg/l in water.
d) 0.4

d) 0.4

SPACE FOR ROUGH WORK
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40.

41.

42,

GMOs are

a) Genetically Modified Organisms
b) Genetically Mediated Organisms
c) Genetic Model Organisms

d) Genetically ModelOrganisms
GMOs 2038

a) Genetically Modified Organisms
b) Genetically Mediated Organisms
c) Genetic Model Organisms

d) Genetically ModelOrganisms

is not responsible for ozone depletion.
a) Chlorofluorocarbons
b) Lead
c) Fluorine
d) Chlorine
b BIRET RIBET BT FIOEDRE),
a) 3REBRITRTRCTOWF T
b) xR
c) TROT
d) gReoT
zone, is the deep water zone containing only heterotrophs.
a) Profoundal b) Littoral
c) Sub littoral zone d) None of the above
ERR oL FeRe BB NER), BTN =93 DeOF BLoeNT 7
a) B3R b) 8Bw&¢T
c) o OE3RPeT BOod d) 30O CINPT B,

SPACE FOR ROUGH WORK
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43.

44.

45.

The space between the soil particles and soil organisms is called
a) Pore space

b) Pore size

c) Particles

d) None of the above

LT BEANEL N LI 23eINY SRV %@M@L DI FEODSINIZTS ?
a) Sopm N

b) Sog@ ™3,

c) Beansd

d) S0edT P Te ey

The instrument used to measure relative humidity is
a) Hygrometer

b) Hydrometer

c) Barometer

d) Thermometer

m@"(’é esgréojodaq 98030 LIRIE TS

a) TR e0eET

b) Z@Em et

Cc) ADReTOIIAVIS X o

d) PEeeroee3o

Black soils are black in color owing to a high content of

a) Humus b) Sodium
c) Potassium _ d) Copper
3R) oL BSNT B3 203N Be3BDoTIN Q) WEABOTZT

£ w3 0 o™ o
a) BRI b) ZeeRodoe
C) PRI d) s
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46.

47.

48.

Which one of the following does not produce SO, in indoor environment ?
a) Fossilwood
b) Fire proofing using asbestos
c¢) Cooking, smoking, vacuuming
d) Kerosene space heaters
B3 BNIDINGD, OSNRT %O o . poned FORSRE, SO, e:aﬁaat 00830 SRBRNY, ?
a) BYa30es =03
b) BT 208 2308030, mpx’o@cﬁa
c) @, BRTITON BB Qe5oF 030
d) ?qedaebs-«o; 03> &et3T*

The Stockholm Conference of United Nations was held in the year

a) 1968 b) 1969
c) 1971 d) 1972
oo i e, AT e ke R R B0, BAREE ?
a) 1968 - b) 1969
c) 1971 d) 1972

Which gas is mainly responsible for the Green House effect ?

a) Ozone b) Oxygen

¢) CO, d) CO

BATORIS BOTRT, ooz BRI T0eDNG ?

a) L3RS b) edgﬁuz&ﬁ

C) BWFS C%eﬁi}té‘ d) BWFS Secd, =
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49.

50.

51.

52.
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Symbiosis is expressed by

a) Soil b) Fungi

c) Lichens d) Virus
ABLEBID) ARNSE, TOLRANIZTS

a) aﬁosa%a b) &deoryne

c) O d) $ox°
Largest ecosystems of the world are

a) Grassland ’ b) Greatlakes
c) Forests d) Oceans
TWE003TI €98 BRT TWORT a%aﬁ:’é

a) BOLLIRW b) Be@ FTpe=orish
C) oy d) —a'{d

Acid rains is any rain with pH

a) Below5.6 b) Above 5.6 and below 6.9
c) Below 8.0 d) Below 7.0

oRR)Te aﬁo@ﬁ&iﬁi ‘23] W%’ 0T FBeew pHT VR

a) <5.6 b) >5.6 =2y < 6.9

c) <8.0 d) <7.0

The author of Silent Spring

a) Jeffrey Archer ' b) Rachel Carson
c) E.P.Odum d) Sydney Sheldon
"R otz RIS Seads

a) ¥ eﬁzsrc* b) Towder BoRra*
C) B & LB » d) @30
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53. The thickness of the ozone layer is measured using unit of

a) Newton b) Joule
c) Dobson d) Decibel
- LB TETT cﬁdwddgi o3n= draafsqu WHRBROTD SFODRRZT 9
a) IRu b) 2des
c) W d) @wes

54. Which one of the following is a non persistent pesticide ?

a) Chlordane b) Dieldrin

¢) Malathion | d) Aldrin

=r i@éﬂd@ﬁe}q 03T T3 20T @do@dﬁ%ﬁ FeRTOTT 9

a) 3Reden® b) @%af

C) BROFIRT® d) sO
55. Chipko Movement was held in

a) Uttar Pradesh b) Assam

c) Karnataka d) Kerala

U W 0O Sd?

a) Y3t BIe3 b) =00

C) FoF e d) deas

56. London Smog occurred in the year

a) 1952 b) 1986
c) 1962 d) 1972
OOBS® BBTE Brrt 30020 cIReN oI 9

a) 1952 - b) 1986
c) 1962 “ d) 1972

SPACE FOR ROUGH WORK




SN - 712 20- VA

57.

Chlorine added to water acts as a
a) Disinfectant

b) Absorbent

c) Coagulant

d) None of the above

Qe0n 3Re0n* L) RedrTn DTINIBTI 7
a) Rpeodd VT

b) aoebiro@%d

C) BMOVOES®

d) S0eOS CIRPT &)

58. The United Nations Conference on human environment was organized at

59.

a) Rio de Janiero b) Paris

c) Stockholm d) New Delhi
TSI TORTE 30031 CRVF W TORNE A3 26 3030eRING ?
a) dodee B BITPE b) 3,0=°

C) AR BRI d) SS32O

gives an empirical value to water quality and is a parameter for the

organic matter present in water.
a) BOD b) COD
c) DO d) Hardness

DEOR Rormdeg T,0306N8 BPE,TI) VB T8 VEOTY, FTEDE TTOFF DT 208
B[R

a) BOD b) COD
c) DO d) neses

SPACE FOR ROUGH WORK
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60. Ozoneis a ,
a) Primary pollutant b) Secondary pollutant

c¢) Hydrocarbon d) PAN

5,806 BRTD)

a) THHNT dm@@s@dﬁﬁe}o b) mqs&)oﬁ méa’%ﬁadﬁr{%
C) BR/YTWFD d) PAN

61. High volume air sampler is used to monitor

a) CO b) CO,

c) SPM d) Hydrocarbon
20ed, 259058 BIRTBELL 03703 éz&ﬁ TOTIROT aﬂsadaﬁeédo WIRERNIBT ?
a) TWFS® RBAJT, b) aura‘d 3 =
C) R°.&.R0. d) SRR @WF

62. Which of the following is an endemic species found in Western Ghats ?

a) Marsh Mongoose b) Indian Rhinoceros
c) Brown Palmcivet d) Flying Squirrel
DRNGS, SRR e PUNYY, BoROWTON N@QOjD 22S03RNS ?

a) RN F BRONRR’ b) 239086030 ;Dmdor{
C) BT TS d) TTOD PO

63. The mean temperature of the earth is approximately

a) 10°C b) 15°C
c) 20°C d) 29°C
130003 Ro9RE TITHRER) RO RITH

a) 10°C b) 15°C
c) 20°C d) 29°C

SPACE FOR ROUGH WORK
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64. Which of the following is a green house gas ?

65.

66.

67.

a) Nitrogen
c) Oxygen
BRNTE, O BRTIROI RTINS ?
a) TOOXIT
C) &RKIT

Which of the following is not a fossil fuel ?

a) Coal
c) Petrol

SINSINE, CIRTTH> DTS BoFRRE 2

a) 39T
c) Jdpeer

The coldest region of the atmosphere is
a) Troposphere

c) Mesosphere

WOBITTE €98 SeB TT3e3

a) é&@aﬁpeﬁgpjoc‘

c) &oﬁme%g;ojac‘

Environmental planning organizaﬁon is
a) ICAR

c) NCO

TORT 03ReRI0 RO

a) ICAR

c) NCO

b) Methane
d) Sulphur dioxide

b) Qoegdes®
d) #cgp‘ 3 g =

b) Wood
d) LPG

b) =0T
d) Qof.&.23.

b) Stratosphere
d) Thermosphere

b) Soodn=ooE®
d) z;ﬁairaerﬁi)wocf

b) NEERI
d) NPO

b) NEERI
d) NPO
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68. The SilentValleyis a
a) Place in Himachal Pradesh
b) Densely forested valley in Palghat district of North Kerala
c) Valley in Garhwali Himalayan region
d) Valley in Shivalik range
"R ot 0" adg@da
a) &RV IS ROOTCT z);#
b) evdT geTvT TOOL* [~Sjeve déﬁmcﬂ TR Bees
C) NTO LRBROODT® TTEST 5633
d) dzpdT* s BEIS

69. Richter scale is used to measure

a) Velocity of light b) Intensity of sound
c) Amplitude of seismic waves d) Wind velocity
‘aicf a‘mdé&ﬁ&l 08 WIRSINBT ?

a) ddsSWen b) 3R 3e33

C) RBoTNG SN FTo) d) me Sen

70. A common disinfectant used in village wells is
a) Ozone gas
b) Potassium permanganate
¢) lodine and bromine
d) Free chlorine
Y009, LIDINPN WHFRDNIT TOTRF, ARCOBO Q0TI
a) W O
b) pes 8030 DRPF oNIeE®
C) ©903ReaT* BB BRe0T*
d) e BRed*
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